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Fig.1 Example of histogram on creep-rupture strength
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3 ° #D% (Flg' Steel type Data item Sample Mean SD Skewness /b, test Kurtosis Geary's
test
[, Table 1D
1) l] 1) - 7"“&“5% Carbon steel  logtp at 450°C, 28 3.2054 0.0282 -0.287 —_ 3.313 .. »
19.5kgf/mm? :

ﬂﬂﬂ ifi[l f—ﬁa(: 2.25Cr-1Mo logty at 550°C, 57 3.3080 0.0284 -1.209 L 4.910 P

- [ 14.0kgf/mm?
a—( )]\\1 WA I a. 3048S logty at 732°C, 406 2.0521 0.0490 -0.342 — 4.077 —_
TEL TV A, 5. skgt/mn’

l(:)gt:R at 700°C, 54 3.0260 0.0361 -0.512 _— 2.512 _—

316SS
2)5&511')7-\, Nl if& 11.0kgf/mm?
Eiﬁﬁﬁ’) t rd-: b ° 2.25Cr-1Mo logS for 500°C, 18 1.2368 0.0467 0.302

_ 2.216 _—
e - FADHEK 10°h
2.25Cr-1Mo log8 for 500°C, 18 1.1177 0.0368 0.264 — 3.815 _—
BareFrl o £ ik 10°h
304Ss logS £ 600°C 34 1.0376 0.0722 -0.577 —_ 3.389 —_
HIT1 ~2%T, o088 for 6007,
t - t.fﬂa) l\'=) W 316SS logS for 600°C, 79 1.1074 0.0571 -0.234 —_— 2.328 —
10%h
X E@L§1ﬁ7 'J 3218S logS for 600°C, S0 1.0305 0.0837 -0.080 —_ 2.452 _—
] 10°h
- 7 ﬁﬁmmn 0) % 347SS logS for 600°C, 22 1.0495 0.1222 -0.603 _— 2.136 _—
n, 3~10%T 10%h
y)') r:o #:5% significant, #e:1% sipnificant. ——:Not significant
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